
Spiel 1 Spiel 2 Gesamt

Spiel 147 18:24 J 2 KÄFERBÖCK Roman 54 + 64 = 118 O

K 1 EXENBERGER Johann 55 + 60 = 115

Spiel 148 18:33 J 1 ACHLEITNER Christian 59 + 61 = 120 # O # O O

K 2 FRÖSCHL Max 61 + 62 = 123 # # # #

Spiel 149 18:43 J 5 STOLZ Martin 47 + 53 = 100 #

K 5 RUMETSHOFER Michael 61 + 52 = 113 # # O

Spiel 150 18:56 J 4 STADLER Herbert 57 + 65 = 122 O #

K 4 GÜNTHER Reinhard 48 + 49 = 97 # #

Spiel 151 19:05 J 3 ÖLLERMEIER Fritz 55 + 63 = 118 # #

K 3 SEIBERT Günther 53 + 65 = 118 # #

Verlängerung 19:14 J 3 ÖLLERMEIER Fritz 15 + 13 = 28

K 3 SEIBERT Günther 20 + 17 = 37 #

Spiel 152 19:17 V 147 EXENBERGER Johann 61 + 58 = 119 O

V 148 ACHLEITNER Christian 60 + 56 = 116 # # # #

Spiel 153 19:26 S 147 KÄFERBÖCK Roman 61 + 50 = 111 #

S 148 FRÖSCHL Max 54 + 64 = 118 O # #


